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ULUUdRl 6 2PULUYUL SEIvLhUUSLSEUUYUL SNh8ULRTULES (2 3)

NN
y Skhutthljuinnbuwljub gniguthotbkpp Quihh dhuwnpp | Guuljknught | Unwetwhbppe [ Zknwtljupught
|
1 2 3 4 5 6
1 [Swpwédpp (punudkip),uyn pynid* hwgq. hm 14037,73 14037,73 14037,73
uunk u oulr uhnnk Ejwhnnbp, dwd
guupuntniuwmlul tpubwnpyub hantp (fupbpobngbp, puqduo hwgq. hw 10568,16 10458,10 10408,12
wnuuplubp, pnnhwppubp, wpnunwyuyptp b wy) hnnuntuptp)
puwyuuyntph hnnkp hwgq. hm 2439,77 2548,79 2572,41
wpynitbwpbpnipyub, pugbppoqunugnpédwt b wy] wprunpuju huiq. hw 464.29 45925 463,44
towbwlnipjut hnntp
Hutngtunpluh, wpwbugnpuh, Guugh, oo huq. hu 146,64 146,03 152,15
Eupwlunniguspubinh opykljnttiph hnnkp
hwwnnil] ywhwywbynn nwwpwsputnh hnnkp hwq. hm 159,29 166,62 182,66
hwwnnil] bywbwlnipjub hnnkp hwq. hm 50,96 50,96 50,97
wlnwnuwht hnnbp hwq. hm 15,86 15,86 15,86
onuyhtt hnntp hwgq. hm 192,76 192,12 192,12
wuwhniunwht hnnkp hwq. hm 0,00 0,00 0,00




Junupowujuw punwph hnnulwubph tyuwwnwljughi b gnpdburtiwlwb towbualmpynibutph hnhnjnpyniabitpp 2 1

A juwynp hwnwljugsnid thnthnpdus

snnquufuuh N Unlu tgunnuiljuht b gpdwnbiuayl gk o | ol b/wd gepswnbwlot | Ulbpbup ()
qdwgph Ypw wpwbwynipniup
upwhwlnipniup
1 2 3 4 5
Unwgtwhbpp dhongunnidubp (1-5 mwiph)
Qniquuntunbuwljub hnnbphg' 86,67
Unpmynihuwp., punkppoqu. bt wy) wpw. 6.36
wpwhwlnip. op. ’
1 Jupkjuhnn 0,19 qninuninkuwljul, wpnwnp. 0,19
2 Jupbjuhng 0,01 gniquntnbuwlui, wpnwngp. 0,01
13 Juipkjwhnn 0,81 qninuninbuwljul, wpnwnp. 0,81
30 Jupbjuhng 0,09 gniquntnbuwlui, wpnwngp. 0,09
32 Jupbkjwhnn 0,15 qnuqunbnbuwul, wpnwnn. 0,15
33 Jupbjuhng 0,08 gniquntnbuwljui, wpnwngp. 0,08
34 Jupkjwhnn 0,19 qnuqunbnbuwui, wpnwnn. 0,19
35 Jupbjuhng 0,12 gniunbnbuwlul, wpnwnp. 0,12
36 Jupbkjwhnn 0,21 qniqunbnbuwlul, wpnwnn. 0,21
38 Jupbjuhng 0,40 gniqunbnbuwlul, wpnwnp. 0,40
39 Jupkjwhnn 0,04 qnuqunbnbuwlul, wpnwnn. 0,04
40 Jupbjuhng 2,15 gniqunbnbuwlul, wpnwnp. 2,15
41 wy] hnquwnbtupkp 0,05 gnipnunbuwljui, wpnwunp. 0,05
42 Jupbjuhng 0,26 gniqunbnbuwul, wpnwnp. 0,26
43 Jupkjwhnn 0,07 gnipnunbuwljui, wpnwunp. 0,07
3 wpnn 0,02 gniqunbnbuwlul, wpnwnp. 0,02
4 Juwnnnh wygh 0,05 guqubnbuwlul, wpunwnp. 0,05
29 Juwnnnh wygh 0,11 gniqunbnbuwlul, wpnwnp. 0,11
31 wunnunnt wjgh 0,09 guqunbnbuwlul, wpunwnp. 0,09
37 ujinnunt wjgh 0,26 gniqunbnbuwlul, wpnwn. 0,26
56 Jupbjuhng 1,01 wprynibwpbpnipjul 1,01
Puwljujuypkph 80,31
8 Juwnnnh wygh 0,51 hwuwpuluwlwh jurniguy. 0,51
9 fiwunnnh wjqh 0,69 hwuwpuljuljub jurniguy. 0,69
10 )] hnquwnbuphp 0,13 hwuwpuluwlwh jurniguy. 0,13
12 wy] hnquwntupkp 0,27 hwuwpuljuljub jurniguy. 0,27
14 Jupbjuhng 0,22 hwuwpulwljwh jurniguy. 0,22
18 Jupkjwhnn 19,30 Juwnp 19,30
19 Jupbjuhng 12,82 huwnp 12,82
20 Jupbkjwhnn 12,04 Juwnp 12,04
21 Jupbjuhng 25,89 huwnp 25,89
22 Jupbkjwhnn 1,15 Juwnp 1,15
23 Jupbjuhng 1,00 huwnp 1,00
27 Jupbkjwhnn 0,90 fuwnp 0,90
25 wyj] hnquwnbuphp 0,88 huwnp 0,88
28 wy] hnquwntupkp 0,74 fuwinp 0,74
76 ] hnpuunkuphp 0,11 huwnp 0,11
44 Jupbjuhng 0,14 puwljth jupniguuyyuniwl 0,14
45 Jupbjuhng 0,21 puwlkh urniguyuwndwh 0,21
46 Jupbjuhng 0,15 puwljlh jupniguuyundwl 0,15
48 Jupbjuhng 0,12 puwlkh jurniguyuwndw 0,12
49 Jupbjuhng 0,16 puwybh jurniguywndw 0,16
51 Jupkjuhng 1,14 Stwukpd jupniguuundwui 1,14
52 Jupbjuhng 1,02 Stwudbpd junniguuyundwub 1,02
55 Jupbjuhng 0,64 Stwukpd jupniguuyundwu 0,64
53 ] hnquunbuphp 0,01 Stwudbpd junniguuyuwndwub 0,01
50 wj] hnquwnbuphp 0,04 puwlih jupnmguyuwndwh 0,04
47 juwnnnh wygh 0,03 puwyth jurniguywndwh 0,03
Puwhuuyph hngkphg 12,56
Puwwduypkph 5,23
7 punhwinip ogquwugnpsumi 1,20 hwuwpuljuljub jurniguy. 1,20
11 punhwinip oguwugnpsuwi 0,56 hwuwpuluwlwh jurniguy. 0,56
15 punhwinip  oguugnpduwi 0,03 hwuwpuljuljub jurniguy. 0,03
16 punhwinip oguwugnpsuwi 0,02 hwuwpuluwljwh jurniguy. 0,02
17 punhwinip oguugnpsuwi 0,16 hwuwpuljuljub jurniguwy. 0,16




24 punhwinip oguwugnpsuwi 0,21 Juwnp 0,21
26 punhwinip ogquwugnpsumi 1,40 huwunp 1,40
57 punhwinip oguwugnpsuwi 0,03 puwybh jurniguywuwndw 0,03
58 punhwinip oguugnpsuwi 0,01 pluwlii h jurniguyunduh 0,01
59 punhwinip oguwugnpsuwi 0,01 puwykh jurniguywuwndw 0,01
60 punhwinip  oguugnpsuwi 0,01 puwlii h jurnigumyundu 0,01
61 punhwinip oguwugnpsuwb 0,01 puwybh jurnguyuwndwh 0,01
62 punhwinip oquugnpsuwi 0,01 puwlii h junnigumyundu 0,01
63 punhwinip oguwugnpsuwi 0,02 puwykh jurniguyuwndwh 0,02
64 punhwinip oguugnpsuwi 0,01 pluwlii h jurnmiguyundubh 0,01
65 punhwinip oguwugnpsuwb 0,01 puwykh jurniguyuwndw 0,01
66 punhwinip oguugnpsuwi 0,01 puwlii h jurnigumyuwndui 0,01
70 punhwinip oguwugnpsumb 1,52 puwlkh jurnmguyundwh 1,52
Zunnnil) ywhwwinjnn wwpwspubph 7,33
71 punhwinip ogquwugnpsumi 0,52 wuindwljut b dpwljnipught 0,52
72 wy] hnntip 6,81 wuwndwlul b dpwlnipuyght 6,81
Unpmynibwp., pugtppogu. b wyp wpun. 951
wowhwljnip. op. ’
Puwljuduiypkph 9,51
5 wpryniiwpbpnipju 2,80 hwuwpuljuljub jurniguwy. 2,80
6 wpiygniiwpbpnipu 0,17 hwuwpuluwlwh jurniguy. 0,17
54 wpniiwpbpmput 0,69 punhwtnip  oquuugnpduwh 0,69
67 wpiyniiwpbpnipu 0,47 puwybh jurnmguyuwwndw 0,47
73 wpiyniiwpbpnipju 2,29 puwliih jurnigumyunduh 2,29
74 wpiynibwpbpnipu 0,42 puwybh jurniguyuwndw 0,42
75 wpiyniiwpbpnipjut 2,48 pluwliih jurmguyundw 2,48
68 gniquntnbuwlui, wpnwungp. 0,19 hwuwpululwb jurniguy. 0,19
Elkpglnhljuyh, npubugnpnh, o,

jnunibiuy Eupul. op. e
Puwwduypkph 0,45
69 wnpuliuynpinh 0,45 hwuwpuljuljub jurniguy. 0,45

Uhgtiwdwuljkin Uhgngunnidtbp (5-10 inwph)

Qynuyunntnntuwlwt hantphg 23,48
Aniquuniinbuwljui hnnbp 0,10
4 )] hnquwnbuphp 0,10 Jupbjuhng 0,10
Puwwduypkph 8,85
6 Jupbkjuhnn 0,05 pluwlii h jurnigumyundui 0,05
7 Jupbjuhng 0,05 puwyth jurmguywuwwndw 0,05
10 Jupbkjuhnn 3,19 hwuwpuljuljub jurniguwy. 3,19
32 Jupbjuhng 1,20 Stwudkpd jupniguuyundwl 1,20
33 Juipkjwhnn 0,62 Stwlkpd jupniguujundwul 0,62
34 Jupbjuhng 0,37 Stwudkpd jupniguuyundwl 0,37
35 wy] hnquwntupkp 0,01 Stwukpd jupniguujuindwul 0,01
36 )] hnquwnbuphp 0,03 Stwubpd jupniguuyundwul 0,03
15 ujnnuunnt wjgh 0,04 pluwlii h jurmguyunduh 0,04
16 unnunnt wjgh 0,19 puwykh junniguyuwndwh 0,19
28 wy] hnquwntupkp 2,55 hwuwpuljuwt junniguy. 2,55
38 Jupbjuhng 0,02 punhwinip oguwugnpsuwi 0,02
40 Jupbkjwhnn 0,53 Juwnp 0,53
Unpmynihuwp., pugkppoqu. bt wy) wpw. 7.01

wowhwlnip. op.

2 Jupbjuhnn 0,05 qninuninkuwljul, wpnwnp. 0,05
8 Jupbjuhng 0,11 gniquntnbuwlub, wpnwngp. 0,11
11 Jupbkjwhnn 0,43 quinuninbuwljul, wpnwnp. 0,43
12 Jupbjuhng 0,28 gniquntnbuwlui, wpnwngp. 0,28
22 Jupkjwhnn 6,14 qniqunbnbuwlul, wpnwnn. 6,14
Zunnty yuwhywiyny nmwpwspukph 7,52
1 )] hnquwnbuphp 7,52 wuwndwlul b dpwlnipuyght 7,52

Phwhujuyph hngkphg 12,09




Puwwduypkph 3,08
9 punhwinip ogquwugnpsumi 0,88 huwunp 0,88
26 punhwinip oguwugnpsuwi 0,59 huwnp 0,59
27 punhwinip oquwugnpsumi 0,17 huwunp 0,17
21 punhwinip oguwugnpsuwi 0,07 hwuwpuluwljwh jurniguy. 0,07
17 punhwinip  oguugnpsuwi 0,76 puwlii h jurnigumyunduh 0,76
31 punhwinip oguwugnpsuwi 0,03 hwuwpuluwljwh jurniguy. 0,03
30 wy] hnnkp 0,02 hwuwpuljuljub jurniguy. 0,02
18 wy] hnntip 0,16 puwlbh jurnguyuwndwh 0,16
39 wy)] hnnkp 0,01 punhwinip oguugnpsuwi 0,01
37 Stwubpd jupniguuyyundwui 0,03 punhwinip oguwugnpsumi 0,03
41 pluwlii h jurniguyuwndub 0,09 fuwnp 0,09
43 punhwinip oguwugnpsuwb 0,24 huwnp 0,24
44 punhwiinip oquuignpduwt 0,03 hwuwpuljulwt junniguy. 0,03
Unpmynihuwp., pugkppoqu. bt wy) wpw. 0.40

wpwhwlnip. op. ’
5 ] hnnkp 0,16 qninuninbkuwljul, wpnwnp. 0,16
23 punhwinip oguwugnpsuwi 0,24 gniqunbnbuwlul, wpnwnp. 0,24
Zunnnil) ywhwwinjnn wwpwspubph 8,52
20 punhwinip ogquwugnpsumi 8,52 wuindwljut b dpwljnipught 8,52
Z2wnn]) bywtwhnmpjui 0,09
14 hwuwpuluwlwh jurniguy. 0,09 Zunnntl] ipwbwlnipjut 0,09

Unpmynibwp., pugtppogu. b wyp wpun. 5.03
wowhwljnip. op. ’
Yniyuuninbuwljui hnnkp 0,67
3 qniquninbuwljul, wpnwnp. 0,67 Jupkjuhnn 0,67
Puwljujuypkph 4,36
42 gniqunbnbuwlul, wpnwnp. 0,25 huwnp 0,25
45 wpryniiwpbpnipju 0,02 hwuwpuljuljub jurniguy. 0,02
19 wpiyniiwpbpnipu 1,87 huwnp 1,87
24 wpynibwpbpnipju 0,30 puwlii h jurniguyunduh 0,30
25 wpiygniiwpbpnipu 1,92 hwuwpuluwljwh jurniguy. 1,92
Elkpglnhljuyh, npubugnpnh, o,
0,05
Yndnihuy Eipwly. op.
Puwwduypkph 0,05
29 wnpuiiuynpinh 0,05 hwuwpuljuljub jurniguwy. 0,05
Z2wnn]) bywtwhnmpjui 0,08
Puwwduypkph 0,08
13 Zunnntl) ipwbwlnipjul 0,08 hwuwpuljuljub jurniguwy. 0,08
e 1
Qniquuntunbuwljub hnnbphg' 12,14

Puwljujuypkph 8,58
1 Jupbjuhng 0,12 puwybh jurniguywuwwndw 0,12
17 Jupbkjuhnn 0,30 pluwlii h jurnigumyundu 0,30
18 Jupbjuhny 0,25 puwybh jurniguyuwwndw 0,25
19 Juipkjwhnn 1,69 pluwliih jurnigumyunduh 1,69
20 Jupbjuhng 0,04 puwlbh jurnmguywuwndwh 0,04
21 Jupbkjwhnn 0,41 pluwlii h jurniguyunduh 0,41
3 wnnunnt wjgh 0,31 puwybh jurmguywuwndwh 0,31
4 wy] hnquwntupkp 0,04 pluwlii h junnigumyundub 0,04
22 wyj] hnquwnbuphp 0,04 puwlth jurniguyundwh 0,04
23 wy] hnquwntupkp 0,21 puwlii h jurnigumyundub 0,21
24 Juwnnnh wygh 0,25 puwyth jurniguywuwndwh 0,25
25 fuownnnh wyqh 0,52 puwlii h jurniguyundub 0,52
26 Juwnnnh wygh 0,85 puwlth jurniguyuwnduh 0,85
27 hiwunnnh wjgh 0,12 puwlih jurniguyuwindu 0,12
28 Juwnnnh wygh 0,21 puwl ki h jurniguyuwndwh 0,21
36 Jupkjwhnn 0,13 hwuwpululub jurniguy. 0,13
38 Jupbjuhng 0,08 hwuwpulwuljub jurniguy. 0,08




37 )] hnquwnbuphp 0,10 hwuwpuluwlwh jurniguy. 0,10
40 Jupbkjuhnn 1,00 punhwinip ogquwugnpsumi 1,00
41 Jupbjuhng 0,32 punhwinip oguwugnpsuwi 0,32
42 wj] hnqunkuphp 0,02 punhwinip ogquwugnpsumb 0,02
43 )] hnquwnbuphp 0,03 Juwnp 0,03
47 wj] hnnuunkupkp 0,14 huwunp 0,14
48 )] hnquwnbuphp 0,10 huwnp 0,10
49 Jupkjuhnn 1,30 huwnp 1,30
Unpmynibhuwp., pungkppoqu. bt wy) wpw. 356

wpwhwlnip. op. ’
2 Jupbkjuhnn 0,07 qniquninkuwljul, wpnwnp. 0,07
6 Jupbjuhny 0,09 gniqunbnbuwlul, wpnwnp. 0,09
8 Jupbkjuhnn 0,07 qniquninbuwljul, wpnwnp. 0,07
31 Jupbjuhng 1,00 gniqunbnbuwlul, wpnwnp. 1,00
32 Jupkjuhnn 1,13 qninuninbuwljul, wpnunp. 1,13
9 unnunnt wjgh 0,07 gniqunbnbuwlul, wpnwnp. 0,07
10 ujinnuinnt wjgh 0,11 qniuninbuwljul, wpunwnp. 0,11
15 )] hnquwnbuphp 1,02 wpiyniiwpbpnipju 1,02

Phwhujuyph hngkphg 9,94

Puwljujuypkph 3,65
7 Stwubpd junniguuyundwi 0,08 punhwinip oguwugnpsuwi 0,08
44 Stwkpd jupniguujuindui 0,04 huwunp 0,04
45 Stwdbpd jupniguuyyuwndwi 0,04 huwnp 0,04
46 punhwinip oquugnpsuwi 1,08 Juwnp 1,08
11 punhwinip oguwugnpsuwi 0,26 huwnp 0,26
12 punhwiinip  oquugnpsuwi 0,15 Juwnp 0,15
14 punhwinip oguwugnpsuwi 1,00 huwnp 1,00
39 punhwinip oquwugnpsumi 0,12 hwuwpuljulwt junniguy. 0,12
30 wy] hnntip 0,33 hwuwpulwljwh jurniguy. 0,33
16 punhwinip ogquwugnpsumi 0,55 puwlii h jurnigumyundub 0,55
Upmynihuwp., pungkppoqu. bt wy) wpw. 0.12

wpwhwlnip. op. ’
33 punhwinip ogquwugnpsumi 0,12 gninnunbuwljub, wpwnp. 0,12

Eukpglnhljuyh, nputugnpinh, uwh,
Yndniiuy Eupuly. op. e
34 punhwinip oguwgnpsumi 0,08 Ununiiuy Bipulun. (Fhpkquuiing) 0,08
35 wy] hnntip 6,09 ndniiwy) Eupulun. (FhpkqUuing) 6,09
Unpmynibwp., pugtppogu. b wyp wpun. 1.94
wowhwljnip. op. ’

Puwljuduiypkph 1,94
5 wpryniiwpbpnipju 0,38 Stwkpd jupniguuyundwui 0,38
28 gniquntnbuwlui, wpwngp. 1,18 Stwudbpd jupniguuyundwi 1,18
13 qniquninbuwljul, wpnwnp. 0,38 huunp 0,38




Ui hd hudu

juph hnqudwubph bywwnwluyht b qgupsburhwulwi bywbwuynipnibutph hothnjunienibikpp 20 1

A juwnp hwnwljugsnid thnthnpdus

snnquufuuh N Unlu tgunnuljushl b gpdwnbul Uwljkptup (hu) tyunwluyht /jud gnpswntiwlut | Uwljkplup (hu)
qdwgph Ypw wpwhwlnipniup
tpwhwlnipniup
1 2 3 4 5
Unwgtwhbpp dhongunnidubkp (1-5 wiph)
Qnuquuntunbuwljub hnnbkphg' 2,42
Puwljujuypkph 2,42
10 Jupbjuhng 0,17 hwuwpuluwlwh jurniguy. 0,17
11 Jupbkjuhnn 0,10 hwuwpuljuljub jurniguwy. 0,10
12 Jupbjuhng 0,30 hwuwpuluwlwh jurniguy. 0,30
13 Jupkjuhnn 0,28 hwuwpuljuljub jurniguy. 0,28
1 )] hnquwnbuphp 0,78 hwuwpuluwljwh jurniguy. 0,78
5 wy] hnquwntupkp 0,79 Stwkpd jupniguujuindwul 0,79
Puwuuyph hngkphg 0,99
Puwljuduiypkph 0,99
6 Stwkpd jupniguuyuindwui 0,03 hwuwpuljuljub jurniguy. 0,03
8 Stwudkpd jupniguuyyundwui 0,02 hwuwpululwh jurniguy. 0,02
7 hwuwpuljuljub jurniguy. 0,48 Stwkpd junniguuyundwui 0,48
9 hwuwpuljuljut junniguy. 0,12 Stwdbpd junniguuyyundwui 0,12
2 Uj1 hnntp 0,08 Sttwdlpd jurmguuundu 0,08
3 Uj hnnkp 0,06 Stwdbpd jupniguuyyundwui 0,06
4 Uj1 hnntp 0,20 Sttwdlpd jurnmguuundu 0,20
Uhgtwdwulljn dhgnguinnudkp (5-10 tnwph)
Qnuquuntunbuwljub hnnbkphg' 0,59
Puwljujuypkph 0,59
1 )] hnquwnbuphp 0,59 hwuwpuluwlwh jurniguy. 0,59
Gniyuuntnbuwljuh hngkphg 2,80
Puwljujuypkph 2,80
1 )] hnquwnbuphp 1,80 Stwudkpd jupniguuyundwi 1,80
2 Jupbkjuhnn 1,00 hwuwpuljuljub jurniguwy. 1,00




Unwwnwyki hwduygiph hnqudwubph twwwnwlught b gnpswniwlub bpwbhwynipiniutkph hnpnjumpynmibubpp Qb 1

Q1 juwrynp hwnnwljugsnid thnthnpadus

N
Znnquudtuh Ul toguanulunhl b gpduntulut Uwljtpbup (hw) tyunulught b/jud gnpswptiwljut | Uwljkpkup (hw)
S gl i}
qdwgph Ypw quitimlynipinitip e,
1 2 3 4 5
Unwgtwhtpp dvhgngunnidubp (1-5 mwph)
Qniquuntnbuwljui h.n.thhg‘ 0,21
Puwwduypkph 0,21
13 wj] hnnuunkuphp 0,09 hwuwpuljuljub jurniguy. 0,09
14 )] hnquwnbuphp 0,12 hwuwpuluwlwh jurniguy. 0,12
Phwhujuyph hngkphg 2,98
Puwljujuypkph 2,98
1 Uy hnnkp 0,31 Stwudkpd jupniguuyundwl 0,31
2 Uj hnnkp 0,22 Stwkpd jupniguujuindui 0,22
3 U hnnkp 0,25 Stwudkpd jupniguuyuwndwl 0,25
4 Uj hnnkp 0,27 Stwkpd jupniguujundwui 0,27
5 U hnnkp 0,30 Stwudkpd jupniguuyyundwul 0,30
6 Uj hnntp 0,28 Stwikpd jupniguujundul 0,28
7 Uy hnnkp 0,27 Stwubpd jupniguuyyundwi 0,27
8 Uj1 hnntp 0,34 Stwkpd jupniguuyundul 0,34
9 Uj hnnkp 0,19 Stwubpd jupniguuyundwul 0,19
10 Uj hnntp 0,32 Stwdbpd jurniguuyundwu 0,32
11 Uj) hnnkp 0,23 Studlpd junmguuundul 0,23
Unpmynibwp., pugtppogu. b wyp wpun. 0.73
wowhwljnip. op. ’
Puwwduypkph 0,73
12 qninuninbuwljul, wpnwnp. 0,73 Stwkpd jupniguujuindwui 0,73

Unpmynibwp., pugtppogu. b wyp wpun.
wowlhwlnip. op.

0,60

Puwluduyptph

0,60

qniquninbuwljul, wpnwnp.

0,60

Stwbpd jupniguuyuindui

0,60




Uppuynyu hwdwyuph hnnuwdwubkph tyuunuljuyht b gnpéunbwljut bywhwlnipjnitubkph thnthnjunipnibbpp Qu 1

Q1 juwrynp hwnnwljugsnid thnthnpadus

snnuifuuh N Unlu tgunnulubl b gnpdumbuluh Uwljkpbup (hu) tyunulught i/jud gnpswntiulutt | Uwljkplup (hu)
qdwgnh Ypw wpwtwlnipniiin
wpwhwljmpnip
1 2 3 4 5
Unwgtwhtpp dvhgngunnidubp (1-5 mwph)
Qniquuntnbuwljui h.n.thhg‘ 0,45
Puwwduypkph 3,36
15 Jupkjuhnn 0,45 Stwkpd jupniguujundui 0,45
Puwhuuyph hngkphg 3,73
3 Stwdbpd junniguuyyundwi 0,13 hwuwpululwh jurniguy. 0,13
4 Stwkpd junniguujundwui 0,18 hwuwpuljuljub jurniguy. 0,18
8 Stwdbpd junniguuyundwui 0,35 hwuwpuljuljut junniguy. 0,35
9 Stwkpd jupniguujuindwui 0,36 hwuwpuljuljub jurniguy. 0,36
13 Stwdtipd Jupnguuyuwndw 0,31 hwuwpuljuljut junniguy. 0,31
14 Stwdlpd jurmguuundu 0,02 hwuwpuljuljub jurniguy. 0,02
5 Uj hnnkp 0,23 Stwdtipd Jupnmguuyuwndw 0,23
6 Uy honkp 0,25 Stwdkpd junniguyuwndw 0,25
7 Uj hnnkp 0,13 Stwdtipd Jupniguyundw 0,13
10 Uy honkp 0,53 Stwdkpd junniguyuwndw 0,53
11 Uj1 hnptip 0,27 Studbkpd junniguuundwul 0,27
12 Uy hnntp 0,15 Studbkpd junniguuundwul 0,15
Upmynihuwp., pugkppoqu. bt wy) wpw.
0,82
wowhwlnip. op.
2 Stwudkpd junniguuyundwi 0,82 gninunbnbuwlul, wpnwnp. 0,82
Upmynihuwp., pugkppoqu. bt wy) wpw.
0,10
owhwlnip. op.
Puwwduypkph 0,10
1 gniunbnbuwlul, wpnwnp. 0,10 punhwinip oguwgnpsuwi 0,10
Uhguwdwuljtinn Uhgngunnidtip (5-10 wawph)
Upmynihuwp., pugkppoqu. bt wy) wpw.
0,12
owhwlnip. op.
Puwljujuypkph 0,12
1 gniqubnbuwlul, wpnwnp. 0,12 punhwinip oguwugnpsuwi 0,12
Phwhujuyph hngkphg 0,42
Puwljujuypkph 0,42
2 wy] hnntip 0,42 hwuwpuluwlwh jurniguy. 0,42

Aniquuntnbuwljui h.n.thhg‘ 0,79
Unpmynibwp., pugtppogu. b wyp wpun.
0,79
wowhwlnip. op.
1 Jupbjuhng 0,79 gniqunbnbuwlul, wpnwnp. 0,79




Upwhdbwn hwdwjuph hnnuwdwubph tyuunuljuyht b gnpéunbwljub bywhwynipjniuukph hnhnjumpoibibpp Qu 1
Q1 juwrynp hwnnwljugsnid thnthnpadus
snnuifuuh N Unlu tgunnulubl b gnpdumbuluh Uwljkpbup (hu) hiuulj;uﬁlulﬂlh h}lllu?d qnp;hmrlgmllﬁlmh Uwljkpbup (hu)
qdwgnh Ypw wpwtwlnipniiin
wpwhwljmpnip
1 2 3 4 5
Unwgtwhtpp dvhgngunnidubp (1-5 mwph)
Qniquuntnbuwljui h.n.thhg‘ 8,19
Yniyuuninbuwljui hnnkp 7,88
huwnnnh wygh 4,05 Jupkjwhnn 4,05
2 Juwnnnh wygh 0,84 Jupbjuhng 0,84
11 Juwunnnh wygh 2,14 Jupkjwhnn 2,14
10 Juwnnnh uygh 0,34 Jupbjuhng 0,34
13 Juwunnnh wygh 0,51 Jupkjwhnn 0,51
Puwljujuypkph 0,31
4 )] hnquwnbuphp 0,31 hwuwpuluwlwh jurniguy. 0,31
Phwhujuyph hngkphg 1,09
Puwljujuypkph 1,09
9 Stwdbpd jupniguuyundwi 0,02 hwuwpuluwlwh jurniguy. 0,02
12 hwuwpuljuljub jurniguy. 1,07 Stwkpd junniguuyuindui 1,07
Unpmynibhuwp., pugkppoqu. bt wy) wpwn.
1,12
wowhwlnip. op.
Puwljujuypkph 1,12
3 gniqunbnbuwlul, wpnwnp. 0,30 Stwudbpd jupniguuyundwi 0,30
5 qniquninbuwljul, wpnwnp. 0,26 Stwkpd junniguujuindwui 0,26
14 gniqunbnbuwlul, wpnwnp. 0,19 Stwudbpd jupniguuyyundwui 0,19
7 qniquninbuwljul, wpnwnp. 0,17 Stwkpd jupniguujuindui 0,17
6 gniqunbnbuwlul, wpnwnp. 0,20 hwuwpuljuljut junniguy. 0,20
Elkpglnhljuyh, npubugnpnh, o,
0,12
Yndnihuy Eipwly. op.
Puwwduypkph 0,12
8 Ununiiu Eipuljunnigdusp 0,12 hwuwpuljuljub jurniguwy. 0,12
Uhgtuwdwulljtwn thgnguinnidbp (5-10 tnwph)
Qniquuntunbuwljub hnnbphg' 2,93
Puwljujuypkph 2,93
1 )] hnquwnbuphp 2,93 Stwudbpd jupniguuyundwi 2,93
 eeHuephdosgesnp00Bwesh) 000 — |
Aniquuntnbuwljui h.n.thhg‘ 1,44
Puwwduypkph 1,44
1 )] hnpunkuphp 1,44 Stwkpd jupniguuyuindwui 1,44




Shnultpn hudwyiph hnqudwutph tyyuwwnwlught b gopsuntimljwh bowbwlnpnibttph hognjumeynibutpp b 1

A juwnp hwnwljugsnid thnthnpdus

snnquufuuh N Unlu tgunnuljushl b gpdwnbul Uwljkptup (hu) tyunwluyht /jud gnpswntiwlut | Uwljkplup (hu)
qdwgph Ypw wpwhwlnipniup tow
swlwlnipjniip
1 2 3 4 5
Unwgtwhbpp dhongunnidubkp (1-5 wiph)
Unpmynibwp., pugtppogu. b wyp wpun.
0,34
wowlhwlnip. op.
Puwwduypkph 0,34
1 qniquninbuwljul, wpnwnp. 0,34 Stwkpd jupniguujuindwui 0,34
Puwhuuyph hngkphg 0,24
Puwwduypkph 0,24
2 Uj hnnkp 0,24 Stwukpd jupniguuyuindwui 0,24




Iunpnip hudwyuph hnnwdwubph tyuwwnuwluyght b gnpéurtuljut Lywiwlmpiniittph hngmpjunpniatbpp 21

Q1 juwrynp hwnnwljugsnid thnthnpadus

Zonquuduh N Ul toguanulunhl b gpduntulut Uwljtpbup (hw) tyunulught b/jud gnpswptiwljut | Uwljkpkup (hw)
qdwgnh Ypw wpwtwlnipniiin

wpwhwljmpnip

1 2 3 4 5
Unwgtwhtpp dvhgngunnidubp (1-5 mwph)
Qniquuntnbuwljui h.n.thhg‘ 5,95

Puwljuduiypkph 5,95
1 Jupkjwhnn 0,10 Studbpd junmguuundwl 0,10
2 Jupbjuhng 0,10 Stwudbpd jupniguuyyundwi 0,10
3 Jupbkjuhnn 0,10 Stwkpd jupniguujuindwul 0,10
4 Jupbjuhng 1,57 Stwudkpd jupniguuyuwndwui 1,57
5 Jupkjwhnn 1,91 Stwkpd jupniguujundwui 1,91
7 Jupbjuhng 0,13 Stwudbpd jupniguuyyundwi 0,13
8 Jupbkjwhnn 0,10 Stwkpd jupniguujundwul 0,10
9 Jupbjuhng 1,74 Stwubpd jupniguuyundwul 1,74
6 wy] hnquwntupkp 0,20 hwuwpuljuwt junniguy. 0,20

Uhgtiwdwuljkin Uhgngunnidtbp (5-10 inwiph)
Qniquuntunbuwljub hnnbphg' 0,20

Puwljujuypkph 0,20

1 )] hnquwnbuphp 0,20 hwuwpuluwlwh jurniguy. 0,20

Aniquuntnbuwljui h.n.thhg‘ 4,61
Puwwduypkph 4,61
1 Jupkjwhnn 1,63 Studpd junmguuundwl 1,63
2 Jupbjuhng 0,70 Stwudbpd jupniguuyundwl 0,70
3 Juipkjwhnn 2,28 Stwkpd jupniguujuindui 2,28




Ownlniiup hwdwyuph hnpuwdwubkph tyuunuljuyht b gnpéunbwljub bywhwlnipjnitukph hnhnjunmpoibabpp Qu 1

Q1 juwrynp hwnnwljugsnid thnthnpadus

Zonquuduh N Ul toguanulunhl b gpduntulut Uwljtpbup (hw) tyunulught b/jud gnpswptiwljut | Uwljkpkup (hw)
qdwgnh Ypw wpwtwlnipniiin
wpwhwljmpnip
1 2 3 4 5
Unwgtwhtpp dvhgngunnidubp (1-5 mwph)
Qniquuntnbuwljui h.n.thhg‘ 2,35
Puwwduypkph 1,38
1 Jupbkjuhnn 0,09 hwuwpuljuljub jurniguy. 0,09
2 Jupbjuhng 1,29 hwuwpuluwlwh jurniguy. 1,29
Unpmynibwp., pugtppogu. b wyp wpun.
0,97
wowlhwlnip. op.
3 Juwnnnh wygh 0,30 gniunbnbuwlul, wpnwnp. 0,30
4 iwnnnh wjgh 0,39 qniquninbuwljul, wpnwnp. 0,39
5 Juwnnnh uygh 0,28 gniqunbnbuwlul, wpnwnp. 0,28
Phwhujuyph hngkphg 0,63
Puwljujuypkph 0,63
6 U hnnkp 0,16 Stwudkpd jupniguuyundwl 0,16
7 Uj hnnkp 0,16 Stwukpd jupniguujuindui 0,16
8 U hnnkp 0,21 Stwudbpd jupniguuyundwl 0,21
9 Uj hnntp 0,10 Stwkpd jupniguujundwui 0,10
Uhgtuwdwulljtn thgnguinnidbp (5-10 tnwph)
Qniquuntunbuwljub hnnbphg' 1,07
Puwljujuypkph 1,07
1 Jupbjuhng 1,07 hwuwpuluwlwh jurniguy. 1,07

Aniquuntnbuwljui h.n.thhg‘

0,70

Puwluduyptph

0,70

Jupbkjwhnn

0,70

hwuwpuljuljub jurniguy.

0,70




Ohwéwi huduy

uph hnpuUwubph tywwwlught b gonpswntly

wlh whwhnipymutbph thnpnjunipnibbtpp Qb 1

A juwnp hwnwljugsnid thnthnpdus

snnquufuuh N Unlu tgunnuljushl b gpdwnbul Uwljkptup (hu) tyunwluyht /jud gnpswntiwlut | Uwljkplup (hu)
qdwgph Ypw wpwhwlnipniup
tpwhwlnipniup
1 2 3 4 5
Unwgtwhbpp dhongunnidubkp (1-5 wiph)
Qnuquuntunbuwljub hnnbkphg' 6,00

Aniquuniinbuwljui hnnbp 4,05
1 Juwnnnh wygh 0,20 Jupbjuhng 0,20
3 iwunnnh wjgh 0,50 Jupbjuhnn 0,50
4 Juwnnnh wygh 0,40 Jupbjuhng 0,40
9 Juwunnnh wygh 0,30 Jupkjwhnn 0,30
10 Juwnnnh uygh 0,37 Jupbjuhng 0,37
11 Juwunnnh wygh 0,40 Juptjwhnn 0,40
12 Juwnnnh wygh 1,20 Jupbjuhng 1,20
5 w)] hnquwntupkp 0,68 Juptjwhnn 0,68
Puwljujuypkph 1,95
2 Jupbjuhng 1,57 hwuwpuluwlwh jurniguy. 1,57
13 Jupkjuhnn 0,03 hwuwpuljuljub jurniguy. 0,03
8 Jupbjuhny 0,18 hwuwpuluwlwh jurniguy. 0,18
7 Juwunnnh wygh 0,07 hwuwpuljuljub jurniguwy. 0,07
6 )] hnquwnbuphp 0,10 hwuwpuluwlwh jurniguy. 0,10




Zugpwy hwdwyiph hnpudwubph byuwnwljught b gnpdupiwlwh bywhulmpymbiubph hnhnjumpmuutpp 2 1

A juwnp hwnwljugsnid thnthnpdus

snnquufuuh N Unlu tgunnuljushl b gpdwnbul Uwljkptup (hu) tyunwluyht /jud gnpswntiwlut | Uwljkplup (hu)
qdwgph Ypw wpwhwlnipniup
tpwhwlnipniup
1 2 3 4 5
Unwgtwhtpp dvhgngunnidubp (1-5 mwph)
Puwuuyph hngkphg 0,40
Puwwduypkph 0,40
3 Uj hnnkp 0,19 hwuwpuljuljub jurniguy. 0,19
5 U hnnkp 0,03 hwuwpuluwlwh jurniguy. 0,03
6 Uj hnnkp 0,02 hwuwpuljuljub jurniguwy. 0,02
4 U hnnkp 0,16 punhwinip oguwugnpsuwi 0,16
Unpmynibwp., pugtppogqu. b wyp wpun.
1,29
wowlhwlnip. op.
Puwljuduiypkph 1,29
1 qniquninbuwljul, wpnwnp. 0,51 Stwkpd jupniguuyuindwui 0,51
2 gniqunbnbuwlul, wpnwnp. 0,15 hwuwpululjwh jurniguy. 0,15
7 qnuqunbnbuwlul, wpunwnn. 0,63 hwuwpuljuljub jurniguy. 0,63




2njunudky huduyiph hnnudwubph tuywwnwlught b gnpswptwlwh towtwlmpejniutbph thnhnjumpinibibkpp Qb 1

Q1 juwrynp hwnnwljugsnid thnthnpadus

Zonquuduh N Ul toguanulunhl b gpduntulut Uwljtpbup (hw) byunuljught b/jud gnpswrtwljubh Uwljkpbup (hw)
qéwgph pw wpwtwlnipniiin
wpwhwljmpnip
1 2 3 4 5
Unwgtwhtpp dvhgngunnidubp (1-5 mwph)
Qniquuntnbuwljui h.n.thhg‘ 0,91
Yniyuuninbuwljui hnnkp 0,82
2 howunnnh wjqh 0,46 Jupbjuhnn 0,46
3 Juwnnnh wygh 0,36 Jupbjuhng 0,36
Puwljuduiypkph 0,09
1 Jupbkjuhnn 0,09 hwuwpuljuljub jurniguy. 0,09
Puwhuuyph hngkphg 0,75
Yniyuuninumljui hnnkp 0,66
10 Uj hnnkp 0,43 Jupbkjuhnn 0,43
11 U hnnkp 0,23 Jupbjuhng 0,23
Puwljuduiypkph 0,09
6 Stwbpd jupniguuyuindui 0,05 hwuwpuljuljub jurniguwy. 0,05
7 Stwudkpd jupniguuyyundwi 0,02 hwuwpululjwh jurniguy. 0,02
12 Uj1 hnntp 0,01 hwuwpuljuljub jurniguy. 0,01
13 U hnnkp 0,01 hwuwpululjwh jurniguy. 0,01
Upmynihuwp., pugkppoqu. bt wy) wpw.
0,83
wowhwlnip. op.
niuunbnbumljui hnnkp 0,69
4 gnuunbnbuwlul, wpnwnp. 0,69 wnnunnt wjgh 0,69
Puwwduypkph 0,14
5 gninunbnbuwlul, wpnwnp. 0,14 hwuwpuuwlwh jurniguy. 0,14
Elkpglnhljuyh, npubugnpnh, o,
jnunibiuy Eupul. op. .
Puwwduypkph 0,04
8 Ununitiu 0,03 Stwkpd jupniguuyuindui 0,03
9 Yndniiu 0,01 hwuwpuluwlwh jurniguy. 0,01




Swpnuhl hudwyuph hnpudwubph tyyuwnwluyht b gnpéwrtulwi tywhwulnipinitubph thnthnhunipjnitbubkpp 2 1

Q1 juwrynp hwnnwljugsnid thnthnpadus

annuufuh NOp - Unf toguinul U gnpdwntulut g o | oot Wy gnpswebuul | Uulpbup ()
qéwgph pw wpwtwlnipniiin
wpwhwljmpnip
1 2 3 4 5
Unwgtwhtpp dvhgngunnidubp (1-5 mwph)
Qyniquuntnnbuwlwl hnnbphg' 11,01
Puwwduypkph 11,01
1 Jupbkjuhnn 0,94 Stwkpd jupniguuyuindui 0,94
2 Jupbjuhng 0,70 Stwudbpd jupniguuyundwi 0,70
3 Jupkjwhnn 0,52 Stwkpd jupniguujundui 0,52
4 Jupbjuhng 3,15 Stwudkpd jupniguuyundwi 3,15
5 Jupkjwhnn 3,09 Stwkpd jupniguujundwul 3,09
7 Jupbjuhng 0,19 Stwudkpd jupniguuyundwi 0,19
8 Jupbkjwhnn 1,41 Stwkpd jupniguujundui 1,41
9 Jupbjuhng 0,86 Stwubpd jupniguuyuwndwul 0,86
10 wy] hnquwntupkp 0,15 punhwiinip  oquugnpduwi (Yubiwsy) 0,15
Puwljujuypkph 2,19
Puwwduypkph 0,81
12 ] hnnkp 0,81 Stwukpd jupniguuyuindwui 0,81
Upmynihuwp., pugkppoqu. bt wy) wpw. 138
wpwhwlnip. op. ’
11 ] hnnkp 1,38 qninuninkuwljul, wpnwnp. 1,38
Qpuijhlthg 0,64
Puwwduypkph 0,64
6 18kp 0,64 punhwinip oquwugnpsumt (Gubius) 0,64
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